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XblocPlus Width & Length
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Xbloc Storage

Area per Block (No Boundary effect)

𝟎. 𝟔𝟐𝑫𝟐/N

D = Block Unit Height [m]

N = No. Layers
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Xbloc Storage

• One Layer Storage

• 28 Xbloc Units
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Xbloc Storage

• Two Layers Storage

• 56 Xbloc Units
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Xbloc Plus Storage

𝟐. 𝟕𝟒𝑽( ൗ𝟐 𝟑)/N

V = Block Size [m3]

N = No. Layers
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• One Layer Storage

Xbloc Plus Storage

• 16 XBlocPlus Units
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• Two Layer Storage

Xbloc Plus Storage

• 32 XBlocPlus Units
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• Three Layer Storage

Xbloc Plus Storage

• 48 XBlocPlus Units
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Xbloc Storage

• One Layer Storage

• 40 x 20 Xbloc of 2.5 m3

Storage Area = 93.3 x 21.5 = 2006 m2

Area Block = 2006 / 800 = 2.5 m2 ( 0.65D2 )

• No Blocks = 800
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Xbloc Storage

• Two Layers Storage

• 40 x 20 Xbloc of 2.5 m3

Storage Area = 93.3 x 21.5 = 2006 m2

Area Block = 2006 / 800 / 2 = 1.25 m2 ( 0.33D2 )

• No Blocks = 1600
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Xbloc Plus Storage

• One Layer Storage

• 40 x 20 XblocPlus of 2.5 m3

Storage Area = 43.5 x 95.6 = 4159 m2

Area Block = 4159 / 800 = 5.2 m2 (2.82V2/3)

• No Blocks = 800
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Xbloc Plus Storage

• Two Layer Storage

• 40 x 20 XblocPlus of 2.5 m3

Storage Area = 43.5 x 95.6 = 4159 m2

Area Block = 4159 / 800 / 2 = 2.6 m2 (1.41V2/3)

• No Blocks = 1600
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Xbloc Plus Storage

• Three Layer Storage

• 40 x 20 XblocPlus of 2.5 m3

Storage Area = 43.5 x 95.6 = 4159 m2

Area Block = 4159 / 800 / 3 = 1.73 m2 (0.94V2/3)

• No Blocks = 2400



30 September 2019
16

Xbloc Plus Storage

• Four Layer Storage

• 40 x 20 XblocPlus of 2.5 m3

Storage Area = 43.5 x 95.6 = 4159 m2

Area Block = 4159 / 800 / 4 = 1.3 m2 (0.71V2/3)

• No Blocks = 3200
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Xbloc Plus Storage

• Five Layer Storage

• 40 x 20 XblocPlus of 2.5 m3

Storage Area = 43.5 x 95.6 = 4159 m2

Area Block = 4159 / 800 / 5 = 1.04 m2 (0.56 V2/3)

• No Blocks = 4000


